Rosie and Whitney are solving:

S

Rosie says,
@ J‘ The answer is g ]
Whitney says,
6
The answer is ”
Who do you agree with?

Explain why.

Rosie is correct.
Whitney has made
the mistake of also
adding the
denominators.
Children could
prove why
Whitney is wrong
using a bar model
or strip diagram.

Mo and Teddy share these chocolates.

-?m Chocockites

They both eat an odd number of
chocolates.

Complete this number sentence to show
what fraction of the chocolates they
each could have eaten.

12
_+_:_
12

Possible answers:

1 11
12 T 12

(In either order)



